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Qavy=25y b. Q=CAV;=(200x10™"?F)(25V)=[50x 102 ¢
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g -0 cm o oo E0A _ (8851072 CYNem?)(20x 10 m?) _ s
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A AV=6.0v b. Q=CAV=(88x10"3F)(6.0V)=[53x102C
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= 3. C=1.35pF PE =3C(AV)?=(0.5)(1.35x 102 F)(12.0 V)?

: AV=120V PE=[9.72x10711]
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4. &.”WQO.DE £ 3 =12 ~2 = 2 . MD@ 2
a. Co 50A _ (885x 1077 CPNem?)(1.00x 10°m?) _ T
A=1.00x10°m? d 800.0 m

b. AV=—-EAd

3 6
E=2.0x10"N/C Q= CAV = C(—EAd) = (1.11 x 108 F)(=2.0 x 10° N/C)(800.0 m) =18 C

Q=+I18C
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32. C=0.20 uF
AV =6500V

............
---------------------------------------------------------

------
aaaaaaaaa
.........
..................................
................
LR

........

>
<
[

100.0 V

= 4.000 x 10~° F

a. Q=CAV=(0.20 x 10~° F)(6500 V) =

1.3x1073C

b. PE=2C(AV)?=(0.5)(0.20 x 10~5 F)(6500 V)2 =|42]
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a. o BoA _Emr” _ (8.85x 107 CY/Nem?)(7)(2.50 x 10~ m/2)?
d d 1.40x 1074 m

d=140%10"*m

C=|310x1073F

AV;=0.12V b. Q=CAV;=(3.10x 107 F)(0.12V) = [3.7x 107 C

€. PEpusric =3QAV; = (0.5)(3.7x 107 C)(0.12 V) = [ 22X 107

Ad;=1.40x10"*m d. AV, =EAd,
AV; 012V
Ad, 1.40x10%m

(1.40>< 1074 m)

=860 V/m

=4.00%x10 m

Ady=1.10x10"m -

AV, = EAd, = (860 V/m)(4.00 X 10 m) = [3.4X 1072V

Q
Q, =(0.707)Q e. AV; ==

Because the capacitance has not changed, AV; = (0.707)(AV)).

AV = (0.707)(AV}) = (0.707)(0.12 V) = (8.5 x 102V



